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Getting Meaning From Context
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Examples
In a number of countries, education is both compulsory-

required-and universal, available to everyone, at least in
primary school (elementary school)

1




Compulsory= Required
Universal= Available to everyone
Primary= Elementary

Public schools are all both free and egalitarian; all
students are considered equal and learn the same the
same material.

Egalitarian = all students are considered equal and learn
the same the same material

:(A clue in another Sentence damall ClalSll JSa (e Ll
(surrounding words
Lgﬁidm@fmﬁ}d\ S\ DAY dhwdwﬁwﬁﬂu&:ﬁ

Example

A school system in one country is not identical to the
system in any other country. It cannot be
exactly the same because each culture is different
Al algn 8 il Wilhae Gd Le A gn 8 syl aldaill
Adlise Ll IS Y Lalad 4wt &S0 o) (S Y
(in the second sentence, you see the meaning of identical
= exactly the same)

(Logic) skl : GG

Examples

The educational system is a mirror that reflects the culture.
4Bl xxrr ) o] yall () oSy andedl] sl
(you probably know the word mirror, so you can guess
that reflects means shows.)
e ) Likaie Ca e () aadais alaal) 36158 N4 (a5 o] WMIRROR
e sl pSareflect




The rekotal is flying in the sky. The underlined word
logically means
- acamel
- a kind of birds
- a building
- An apple
S Jine 48 yra st (Y1 sl Al (e 585 ) Galad) JUall
. Likirekotal
St Lt Lihiad ¢ clawd) 3 iy rekotal J) o)) Jaadt aleall U ylas 13
Call
e e oyl Uy Lddatad ¢ padad Y Aalaill g el g Jasd) of aadu
ik abrekotal

LM_\:.A I\SJ:.A J‘)AM 4alSH sUaxall 4liay! d)\A (e Lz_a\)
i i) lhac) (Gaud el Jaa Dl allall oda 8
The words for example, for instance, such as, and among
them:

Example

Almost four billion people will be living in cities in
developing countries such as India and Nigeria.
Developing Countries : not rich country
JAA (@ (developing country ) 4alS Jixe 48 e 3 5 il JUA)
) il s L) aliaY)

— e e Js (developing country ) 4elSll e ol (pedill skt
Aali J g

Ll Al alas 8 ol aleall 8 LS Glany ani SV any 6 :Lusals
* rlaline 4 e )l 4dS)) Se ina )
Sometimes another word or words in another sentence or
sentence part
has the opposite meaning from a new vocabulary item

Example




In some cities, instead of worsening, urban life is getting
much better
Worsening = much better
Aiaall Blal) ¢ T ud sladV) (e Yy aal) (pany 1 Jgiy (bl JEQ) 8
J=dl petter 4 leule 5 ¢ WOIse (w53 2l worsening 4l

(Definition)—a =) ; Lusla

Lol 7 b sl Waline 48 yea o)yl AalSU iy o 2a a3

) is/are means/mean =3(
) is/are called (ei(

) what this means is = 13 (
) is/are known as — < _=3(
) consist of e ¢sS(

) is/are defined as —=3(

) refer to Y sadi(
) is/are described as=< z <5(

Examples

Example (1) : Someone who explores and studies caves
Is known as a spelunker
a spelunker = someone who explores and studies caves
is Leld 2 )5 4385 a spelunker , 4l 48 o 3 5 @bl JEaI 8
someone Who s Wl 3l el 2l iy ya5 o L e s8known as
explores and studies caves.

Example (2): Sales literature means printed matters that
contain information on the goods
Sales literature = printed matters that contain information
on the goods




AalS Laaay C )5 45 S 5 Sales literature 4wlS 48 ey 5 Gl Jud) 4
Mol Lol a2 o Lol Lad 3aS Lalina smeans

Example(3): The part at the back of the car used for
holding luggage is called the car boot in United Kingdom,
whereas Americans would refer to this as the car’s trunk
car boot= The part at the back of the car used for holding

luggage
ke Lld o5 A4S car boot Sl 48 jaa 3 51 Galudl JEa)
Lol Ly i Ll e V3gicalled as

(Restatement)isluall sile) :lala

zna s gl aclua saleY alea 5l 4alS aladiuly CalS o g6 ol (Kadl (e
Gl
rdie el e Ja5 ClalS Leld Lgaddiing Sale 5 ¢ dasgla e gl afia )
or
that is to say
in other words
l.e. or that is

Examples

Example (1): downtown shopping area is now a
pedestrian zone-in other words, an area for walkers only
A pedestrian zone = an area for walkers only
Q)543 5 (a pedestrian zone ) , 4xlSll 48 jro 3y i Gilal) JUl 4
ke Loy
(an area for 4&lua salel o s 43l ey 13¢8(in other words )
walkers only ).

Example (2) :The surface of Africa consists mainly of
plateaus, or large flat areas, although these occur at
different levels
plateaus = large flat areas




S A5 0or Lam o545 S 5 plateaus sl 48 . eg}é,\u\ JE) d
large flat areas4élua sale) clacy Ulal aadins

Example (1): People spend hours in gridlock —that is,
traffic so horrible that it simply doesn’t move — when they
commute
Gridlock = traffic so horrible
<54 S (gridlock ) .L;L@_hjgﬂ\ AalSl) 48 a3 bl JEW) A
(traffic SO st 5 L 4elua sale) 3y 43l iy 1368 (that iS ) 3ke Wax
horrible ) .

05555 (Getting meaning from context) g s s Lagdl 8 ¢ &6 @l
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Getting meaning from context

M@QJJJ‘\ASQ_\MM\.@JSY\_‘}:& 173&9‘5@““)&\1\&.3)_9
CLidlial ¢ g se 8 LAY & sk Lela | ge @il Aland 8 axe oK1 & sl




L6 a8y Jlsdl

L . «LS3l s aatheir sagacity , = 0= coall GOl @ alaall das 5
sagacity sz

cdlaa) (o, ikl (7 4aSal) (. asill aae
(sagacity) iz e ol aakaiid ¢ oLSA) agil 4l dlaall JOA (pad
AaSall e 33 sala Ll

L 7 e8) sl A

Unbae s fatalities palad) aa s b jsw (81 aleall daa 5
O pde) 3 (e (7. Lo (@) Gm ol (!
el fatalities Fme aas O Likaia USay (pbias Al 43 jaa A (e
Llas
OS5 San | ¢ Uad gl oal 53 5 7 4usa¥) ¢ duma (I 4l aleal

o
W\@uu‘c‘d‘jwyuﬂ&u)b\




S o 132 | e allall S e SR aal g - Al JS (Y3
L a3 S ale Aol

12965 Jpudl B

5l aa i Jl gl
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JENENS
cacluasale) @l (S 4l S that is of (dsY) 5 _walaall b Ll
s sbew Ll equivalent el Jixa agd (Say el

30) In Britch Columbia, where, since 1990, thirteen rainfor est valleys have
been clearcut. 142 species of salmon have already become extinct.”
what does "clearcut” mean?
A-a few trees have been cut down
B- many trees have been cut down
C-all the trees have been cut down
D- none of the trees have beeen cut down

130 Jlgddl B

Glle (0 Lol 513 ¢ 1990 ple i clua ol € i 3 A 1 sl das S
clearcut , JUasY!
Ao e Caval (gallid) (10 41028142




Gl BV e LS (o Leadsd i Jlad¥1 Giany (|
lgaksh 5 o) an Y (2 Canlh JLa8Y) S (&
;S il Jiladl) e jaS 2ae o) 25 4Gl aleal) 8
, @ AVl el i) S of Lilaia pgdd
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"Logging, however, provides jobs, profits, taxes for the government and cheap
products of all kinds for consumers, so the government is reluctant to restrict or
control it."
what does "reluctant” mean?
A) doesn't want to
B) is not allowed to
C) would like to
D) none is true

: 31 J)gd)
tJ) ) Aax 3
Ao sSall (N il puall 5 LY ecilla gl a5 ¢ Ja 4l e ¢ lad) odad
s aoad of reluctant 4esSall @Al | liia) ) dad ) cilaiiall
Aamiadlal gV (0, A S (z d o o (Lu sy ()
e (Lihaie (AUl HaiV) adad dglae (e (i GSIgiuall 5 4 Sall Lia
A aSati gl Lo giaa ladV) adad Jxas o) 3 5 Y iireluctant




"According to its proponents, four times as much paper can be produced from
land using hemp rather than trees."
what does "proponents"” mean?
A) people who are against something.
b) people who support something
c) people in charge of something
d) none of the above is true

:32 J) gl

B P EVG:
e Aaaliil (Say 34l aas (e & e dxa )l proponents , ) el
=LY
V) e Vay iildall alasiuly

(7. (8 O sac (pall alad¥) (o, Lo (o8 i (pAll [l a3V (!
Aasadadal g Y (2 L S il ala i)

ALIS Aadadll Be) 8 (e 2 Vg (ASTY alaad) () e ) 4Rl ina 48 2l Lia
kil () aa axdadll | Ladie 5 LEAY) (8 Bl 3l adad 8 0 )5 Jlgud) 12
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G A Al L) Uy acly gl 1 13 of may adadall 138 L
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when Sara was sick, her voice was almost inaudible. We couldn't hear what
she was trying to say clearly.

a) very loud, easy to hear.
b) very soft, hard to hear

c) very strange, uncommon
d) very shy, introverted

41 J)pdl S
inaudible ,3SIL IS L ga ¢ duay po 3l CulS Ladie
a4l o) et il L pand ) adaiasd o
Cupe) gL Arend O s s e gl ol (@ dmen O Jeas me e ()
, s Jsad (2l e
G ALY ALl mua i 5 )5 4N dlaal) 3

what does "alternative way" means?

usual way (i
unusual way (=
normal way (z
unsafe way (=







Laall Bl (o el o Capail) a8 dpa) Jind Ui jainad J5¥) paall B
Clati) yial e 20 a5 Al g Y15 ualaall (e i e JaSiin L
S Bl 3l
(Main idea):aw )l 3 8l alay) 44 yka] -

&2 - skimming
saall 352y 13 e 2683 - pronoun reference
Jilall Ll alaasiul4 - Understanding ltalics
o))l clailindl 2685 - Understanding Contrast
3330 daglaa e il ) Sl =uall6 - Scanning




(Main idea):dsmsi )l 5,84l alay) 48y ))a] -

M\guw\z)s&\g\)u\‘sjﬁédsw‘;ﬂ\w\iﬂo\@g
LAl aal e aaall g dadadll A e Al pad ¢ U Lag s J Y

Look for the main idea of this paragraph
The life of a doctor is not easy. Martin works a very long
day, and he is very busy with a variety of activities. He
spends a lot of time with people, but he also spends a lot
of time working onreports in his office

A ¢ g Gl AN Bla ol e it 35 Alealdl ¢ il JU) 8
o & s sall Lt ) 5 SalE Ml 5 ¢ (35 4 (S  alee 4 7 58 il
oY) dlaall
The life of a doctor is not easy.

&ali2- skimming

Skimming is used to quickly identify the main ideas of a
text
A 1 3 )SAl paal o gula gall Ary s ) B JAA e anll
main idea s topic o 34!
Topic :the topic is just a word or noun phrase — a few
words. It is not a sentence
Alea Gl g S iy Aol alea o) S (o ()5S g g gall )
Main idea: The main idea is in a sentence or two and can
be found at the beginning, middle, or end of a paragraph.
Loy o T ankadll Ay 8 0 5S5 O Sans il sl Alea ()5S0 A )l) 5S4l

Al ) adaiall

examplel
1Do you have a favorite season? 2Winter, fall, and spring
have many advantages. 3However, summertime is my
favorite season because it offers the tranquility of the
beach as well as the exhilaration of outdoor sports. 4First,




sitting on the other side of a sand dune, hidden by sea
oats and sedge, | like looking at the Atlantic Ocean,
scanning for dolphins and pelicans. 5Looking at
something larger than | am gives me a sense of awe and
gratitude and provides a backdrop for some deep
musings. 6Second, summertime provides me with the
chance to go sailing, surfing, and hiking along the shore.
7The exercise enhances my sense of well being and
creates a feeling of optimism

The topic :summertime
The main idea :summertime is my favorite season
because it offers the tranquility of the beach as well as the
exhilaration of outdoor sports

eall (Al J st Juadl (o lusdinly ¢ g gall oy ¢ Gilad) adaiall

3Sall (e dhaad & ¢ (Al Aleall) Ay )Y U seadll alaxiy &8 5 ¢ (A 5Y)
Jane o 4l 5 ) dlealls summertime . & U & s sall 4 )l

).oLiiV1) Ladh & gz gall

example2
Why | Want to Learn English(1) There are three reasons
why | want to learn English. (2) One reason is that English
has become an international language.(3) It is now used
by most international companies, including the company
where | work, for business communication. (4) Another
reason why | want to learn English is so that | can travel to
English-speaking countries. (5) The United States,
England, Australia and many other countries all use
English as their primary language. (6) Finally, | want to
learn English because | plan to move to the U.S. in the
future. (7) 1 will become a manager for my company soon.
(8) For all these reasons, | am very excited about learning
English.

|dentify the topic sentence: Why | Want to Learn English




A ¢ A alasy) aleis o 4y 53 13l e Jlad) G IV Alaall il Jall
AUl s Aleally Jl sl LlalS Gl Al 4ty ) Clad) 3y ailSl)

& e sall g ) 5_Sal o 1Y) Alenlls

Alia ()5S 5 dagall pral all (0 (the Main idea) A I 3 Sall & g e
Miiune 3,5 ALl
& sasall 1 e

Uneall 292 13 e 2683- understanding pronoun reference

o el Caa o el Al el Cangy A ¢ w230 Wil el
«._ﬁ:‘).'xggﬂ\ P craliall yraal) emu\u;.)‘\.a\iﬁ\ el g 2 g2 e
4l }SJL&‘}“

Cral el ja (pe 1Y Gl
1- Agree in number

Liadl pancall (8 0 e as¥) 13 (s caaally an¥! ypanall (881 5 (o)) can

If the pronoun takes the place of a singular noun, you
have to use a singular pronoun

JGa

If a student parks a car on campus, he or she has to buy a
parking sticker

il g a3 jie he or she 24 Student
)y padid ade Eat il g dclaall jraa aladiu) LiSay Y Eua




Paragraph 1
Every second, 1 hectare of the world's rainforest is
destroyed. That's equivalent to two football fields. An area
the size of New York City is lost every day. In a year, that
adds up to 31 million hectares — more than the land area
of Poland. This alarming rate of destruction has serious
consequences for the environment; scientists estimate, for
example, that 137 species of plant, insect or animal
become extinct every day due to logging. In British
Columbia, where, since 1990, thirteen rainforest valleys
have been clearcut, 142 species of salmon have already
become extinct, and the habitats of grizzly bears, wolves
and many other creatures are threatened. Logging,
however, provides jobs, profits, taxes for the government
and cheap products of all kinds for consumers, so the
government is reluctant to restrict or control it.

Paragraph 2
Much of Canada's forestry production goes towards
making pulp and paper. According to the Canadian Pulp
and Paper Association, Canada supplies 34% of the
world's wood pulp and 49% of its newsprint paper. If these
paper products could be produced in some other way,
Canadian forests could be preserved. Recently, a possible
alternative way of producing paper has been suggested by
agriculturalists and environmentalists: a plant called hemp.
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Canada supplies 34% of the world's wood pulp and 49%
of its newsprint paper
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24 J) s
¢4y o analy clladl (e S 100 zls G g oS
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rainforest is destroyed
DU 100 J 40t 100 4iline ¢ jliSa JSI o] 5 406
) less than two minutes | .Y o3
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$9 255 el ¢l AT oY) 5 sl 8t < ,519)
RAPEN]

Logging, however, provides jobs, profits, taxes for the
government and cheap products of all kinds for
consumers,
so the government is reluctant to restrict or control it

€2 528 (el ¢ A0l 3 3l A jts @ 520)
‘alaal)
Canada supplies 34% of the world's wood pulp and 49%
of its newsprint paper
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Understanding Parts of Speech
?M\ C«\);iﬁ)’.ﬁ.}é&’jﬂuﬁj
skl (ADJECTIVE) 44wl (VERB) J2dl (NOUNE) s/
(ADVERB)
A Ll o) pall) G & giia gall A Juadilly dde Eall & g8 e g8
& s sally Ailaiall HLEAY) AL Ja ae

Understanding Parts of Speech

(Verb = (V )The action that the subject does ( present,
past or future
Jadll sa
Noun = ( N ) Might be subject or object
)
Adjective= ( Adj )Describes nouns
slaw¥) Caal ) a5 0 adall
Adverb = ( Adv )Describes verbs
Jzdll caai Al 4

s o5 4 ) Ll i o gllaa g a1 5 pabanalls 355 U Jaall 138




Beauty,

beautification

Creation

Crowd

Difference

Difficulty

Efficiency

Pollution,
pollutant

prediction

Safety

solution

e 1) gl

Create

Crowd

differenhate

difficul

i Ll

Pollute

Predict

Save

Solve

Worsen

Beautiful

Creative

Crowded

Different

Difficult

Efficient

die Ll ol

Predictable

Safe/savalde

Solvable

Beautifully

Creatively

crowdedly

Differently

Difficultly

Efficiently

Ja bl ad

Predictably

Safely

da el ol

wersely

Example

a. You will succeed if you work hard. (V)
willam <3l LY succeed Jdxdll Ladin) Ua

b. You will achieve the success if you work hard. ( N)
thew il LY success awY! Leadiul L




c. You will get the successful result if you work hard. ( Ad))
Al dda St i result awY) sa Wz L (S5 the 2y il L
successfuliiall Leadiul

d. You will get the result successfully if you work hard. (

Adv))
Jrill Cimies LY ady J) Gediiud Uia

AN ¢ el culaladia) e o Lia

1. Solve
They are trying to find a solution (n.) to the problem of
overcrowding, but this is a difficult
problem to solve(v.).

2. Pollute
Most people know about air pollution (n) in big cities, but
they're just beginning to learn about the many pollutions (n
) that we have inside buildings.

3. Crowd
There are crowds (n ) of people everywhere ; the mass-
transit system is especially crowded (adj ).

4. Save
The city is not safe (adj) because of crime. People can'’t
leave their homes safely (adv) at night, and the police
can’t provide for their safety (n).

5. Beautify
Many people bring plants into their homes because the
plants are beautiful (adj). However, it's possible that these
plants not only beautify (v) the environment but also clean
the air.



http://www.ckfu.org/vb/t430419-2.html

6. Differ
The causes of indoor air pollution differ (v) from area to
area. One reason for the difference (n) is that people hear
their homes differently (adv). People in some areas burn
wood for hear; in other areas, they use something different
(ad)).

em‘ g‘ﬁ\ e :\j:h.u\ 3 ?L’d\ QJJ}




suffix Js prefix J) oe Le gia 50 a4l

ngu\wmu\‘ga.u&u\z)a@b&)juﬁj

& 5 i gl Al ima el la A 5 AN 5l clilal o L Ly ya
PO
disagree s+ (dis ) J ld canxl W agree s
G A B e Fmall s

Jradilly ¢ g gall (o &IS58~ 5
LA Lgpanss o)) aodaiss A1) a5 prefix Ju ) #) )

Gal sl Lgpanss ) ki e a5 sUffix I o alSE 21 ) Lasy &

The Prefix

: THE PREFIX UNY

Un = not
el al aadid Al alald)l gas) 2 un J)
=3 unkind A (A Gmall s un Al Ll e Wl canlal kind S




ha e i unreal sl s un Lo s W ids real Jis
A e unhappy el s un e ciess W yews happy Jb

: THE PREFIX DISL:

;i) (e el LN 40l LeinmiDis
U8 e disable J sxadl i dis W v W able Jis
il ¥ lalias disagree x<i dis & —anai Wl 385 1 agree Jis

diss un & sliadll Gl axy Lia

Un Dis
undo discolored
unfinished | distrust
unwell disorder
unload disapprove
unpack displease
unfit dislike
uncover discharge
disobey
disappear
disbelief

disagree




 THE PREFIX REU

re = again
2ol Jd rewrite spalre Ll caual Wl i el write saleY) Jwdre
PR
4l
repaint, reappraise, reawake

- The prefix DE»)

A€l s gal Bae ) AN iae i 4K dylad il W de I
2 away s Jisl down 4l e () Sy (Sas
, Wizy | depend L=y, descend =iy lixs : deduct e
LLsldespair
S sina s o ol s J s 5l (Flaa LIS

Ssime o) (oua Sl Lok Al g removal izl 05 (Sas )
s depart 5 Ja: decamp s ¢« &8 o5y S deice ¢
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meaning

again

examples

meaning meaning

_down | away | Beforeintime |  Place |

removal reversal Order or importance

examples examples

repaint

defrost pre-adolescent

reappraise

descend prelude

reawake

despair precondition

refill

depend prehistoric

replay

deduct prefix

reheat

de-ice premature

report

decamp precaution

rearrange

depart

rewrite

deface

repeat

deposit

: the prefix imbwala

Cia e 5 C3es impolite Se polite s ¢ (uSall aadinsm
Jinia 5 (Ses impossible -S=Possible

- the prefix irtal.

irregular s regular Jie &l aaiiuy
irrationall« ~Sa rational L

- the prefix inli

sl Ll
incorrectled mawa correct Jis




infrequentless &> frequent Jie

ir, im, ind 4lial sac Lia

impossible

infrequent

impatient

Impossible
irrational

irregular

inexpensive

incorrect

misunderstandeas Leasini mis Jie Al clialy ellia
noncharacteristics Jis GllS sae & Leaadini non Leay

Glale | cpiilu e3 ) e prefix Jl oo Glalall (azy Slad jally (923 ~)
Bda Jaa faa
ledaia (0 Y ¢ 4l JSI iliall prefix J) JUas caS sacld aa g5 Y
Al e ot clile ) paiuls Lgle jad ) LS aading olil )
Lle Js% aS) ynagree & o ¢ Wb Qle ) disagree Sis




prefixd) J s (oaldl a il Hjlad) alis) 2ol

PREFIX e s siad 4duill culalSll e 3aa) 5 J 53
JaaY) daual Lk

PREFIX :J) 4Ll (&l ) Polite 2l Jine i o
. impolite 2 4.y
politeas 22333 ¥ DIS, IN, UN 4stll cblsy)

PREFIX :J 4ilal LuSe Il Possible 4aSl) ixe i g
imes U ;LY
possibleSe 2impossible
possiblegs paxind Y (5 AY) SlLlaY)




PREFIX :J 4dlal Less N regular 4elSl s
ires S s Ty
regulard Sirregular

prefix :J) 4lal LusSe Ll agreement (xe s

diseps 2 Y
disagreement _u<t




The suffix
Laline 5 4WlSH & g el AWKl Al 8 o s e sane | Gal Sl A

readinglulasl el 5 suffix J) g 13 e Jl e <lla
e D ALK e Jeass ALK e suffixes Lacal 130 BY syl
sa Gilaladial g
4 Y] GlelSll & sane (00 %97 JisS suffixes (s Al Sl
fujudd\;.d\ @ﬂt@ﬁa;‘ﬂ‘@]h@t@b\@\j&\jﬂ\ 0da 48 yzad

Al 3uas ilalading g 3uas bl

e s suffixes J g sl SiSI Cagis (N

-1-
-able, ible = can be done : doable
affordable , doabledic 3 2alL (3lat o8 4alSl) 43 & <l BDigble
(adj )m ) AalSl) J eas =y

-2-
-al, ial = has property of : personal
national, personaldic 4.Sllb 335 (adj) ) 4wl Jsasal

-3-
-ed* = past verb : turned

s 58 Lgilial 5 alad) 1 AISH a3 30l e

-4-
-en = made of : golden

slbad) Led Jaand ¥ Led 35S 5l e 1 Y saen
wood s 3 golden g gold Jis (e swns 25 Al en J) Ssacal 1)
4da adj I Al e La 234 wooden gual

LISl (axy I Cidaial 13 verh J28 ) 4Kl Jsad (S en JV oS




dad a5 =l 3 3 Us widen gl en Wl biaal 13 s e wide di
s g 22 Ua worsen sl en el Lial 13) ¢ o worse
ardl mual o) axiy Jad 5 SOftEN sl en L Lial 13 soft )

Jad 5l dbia AN Jsa Sae @n I 1

-5-
-er = comparative : higher
smaller, bigger, fasterdic 43 )laall i saaius er J)

-6-
—er = one who : doer, actor

sl er L canat Wl & ) 5 farm Jie J=8l) Jady (el padins Leayl er J)
gl =farmer
Nassl Lid (o4

-7-
—est = superlative : best, biggest

smallest, widest, highests S Lilial 5 Juadill delua o

-8-
—ful = full of : careful, joyful

full of o234 5 adj 4ball Gldle (10 4dle
full of joy ! joyful zusi ful L canas Wl czlehl ol = B el joy Dl
g AL ele

-O-
—ic = having property of : linguistic

Al 3l ¢ o4 i3 linguistic Jie Sl 2 525 Lay
aia adj S AalSl Jsad A

-10-




—ing* = present participle : running
aball () (B Jlad) A andius Al 5 ,AY) AN e sl ing J)
aiusall g sl g
B‘):\:\S1 .~!.~ “5

-11-
—(t)ion = act, process : action

aul A &yd completion sl ion W il W JeS complete Jie
JWE) Jxan

-12-
—(i)ty = state of : infinity, sanity

regularity z=<i regular Jis au¥) Sladle (a2

-13-
—(t)ive = adjective : motive, votive

expensive Ji 4ba N Al s

-14-
—less = without : fearless, careless

ada A ALS) Had oA g g Sl
paperless, careless, worthlessdJis 3 S Lgilil

-15-

—ly* = having : quickly, quietly

FINLS LSY Canal 13 gdverb L—Q).L-.:ﬂ o Saeall Al
slowly, monthly, specially 5 S eikial

-16-




—ment = action, process : enjoyment

o) ) RSyl Calias
government, placement, developmentJis

-17-
—ness = state of ; kindness

anl I M\)u:_d lat Lay) |
sadness, happiness, shortnessJis

-18-
—ous = having : joyous, religious

dda ALKl el
0US 4dlual 2ay il Cilaia LIS Hlad 5 2l s dangerous, spacious Jie
danger, space sk
-19-
—s* = more than one : books

pens, chairs, tablesdis geall Ji2il ol Ciliai il a5 12 5 J)

-20-
~y = having : happy, windy

dirty, sleepy, cloudy 3_4S Wil s adj 4ba J! 4dle

Cpoll Giamy (i yieia Y g sUffixes JV ) ) o34




Circle the symbol of the correct answer a, b, c or d

1. One of the following words begins with a prefix
a. understand
b. university
C. unique
d. unimportant

2. We change the meaning of the word “ possible” into its
opposite by adding the prefix
a. Dis-
b. in
C.im
d. un

3. To change the word “ hope” into adjective form, we add
the suffix
a. Ful
b. ly
c. ation
d. al

. We add the suffix © ” to the word” apology” to
to change it into verb
a. ation
b. ese

C. ize
d. cal

5. The part of speech of the word” enthusiastically” is
a. Adv
b. N
c.V




d. Adj

6. We change the meaning of the word “ patient” into its
opposite by adding the prefix
a. Dis-
b. in
C.Iim
d. un

7. The word “ soften” is
a. Averb
b. a noun
c. an adjective
d. an adverb

8. We add the prefix“ " to the word” rational” to
change it into its positive meaning
a. ation
b. ir
C. ize
d. cal
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Vdad muail individual 4elSl 4auas 3 suffix J) sale
izez LY
individualize 4l zuai
rosd e Jisadl & S a5y

Al 8 4l G glile prefix o) suffix Jisw) 8 sy 8 J5Y)
el o) 4l
S g1 53 e 5 5Y agat (e I ped) b anllay Le 3L
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al el e @ e e 528 5 cal 2 4aY!
Lale & e b Liayl esE 2 4laY)
Assmall (a Jab AU 53 s 7€ ¢ Ada VG

44 &8 ) J)

4a muail thought 4eISl 4t A suffix J)




Adia bl g 3a) 5 suffix bl 13
thoughtful 4da ) 4Kl J gad ¥ damall s ful | asy)
adveahall aadins LY Bl Jy ¢ alay)
Newdl axiins LklA tion ¢ 4 Y)
Uas () 5S8 thought ae i ¥ Sl y ciliia I Gl Jsa gl s Y)
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Recognizing Cause & Effect

30 yrall ALY ol il glaall ALl
INFORMATION QUESTIONS

Recognizing Cause & Effect
o Laaaal aaly a8 ¢ dati AUl s Ladaal | R0 (e (35S Jaadl iang
AY

«udl Cause= is the reason
asill ¢ LalEffect= is the result

JGa

Salim didn’t come to university. He was very sick.

Effect Cause

Aanlie oyl g 3 Leday 3 Jaa 2o (S5 (o et daill 5 cuand) o jas () s
ondiall Tl ) la) e aeluy inall 48 yma s ¢




cause or reason wawll (Gai 65lc Because, as, since

Wi 05LcAs a result, therefore , consequently, so
effect or result asuiJl

Jlia

Salim didn’t come (because/as/since) he was very sick -
OIS 52 4l dlaall 8 el aall 5 daiill culS (V) dlaadl ¢ ey ol Gl
Yd) (L e
as, because, sincecuad) bl 5 sl il J8 paié

Because/Since/As) Salim was sick, he didn't come)
JUially LaSs VoW1 alead) J Jayl )l s o slhae g daiil) e ) 55 Lia
alald ca.a.a Lasd dj‘)f\

Al aleal) J8

Salim was very sick. (Therefore/ So/ As a result/
Consequently), he didn't come.
Y Aleal) (Caandl) Ly ye oS alls
Ll 55 2n) 4l alead) (8 Unaa 58 ¢ 4l Aleall ((dagill) jumay ol
Al

cause & effect Jl (e (malall o il lialy s Al ABWY) sl i oY)
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<Al Zasiconsequently
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36 JI 3~

aclia 8 addiuy () (Sae ¢ adleladinl s Gl e 5 Ghadall
HERY (e Agdd\
) Al ) &l e g Gladall ¢ Baal g ales sl Jayl ) L
el aiind 23xd ol
SAY) Sl saal s ey aal
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Infosrmation Question

@2 sl Ll all e 3 LS) aead dua i 45 Jgus e sall B
i 11 230 & s sall 128

Information Questions

) e —

| Who  “&= Person oaldiy I Who is in the car? _Reena

| Where ‘&' Place s I Where is the book? — on the table

| When . Time iy I When did you arrive? — At 12 o’clock

Why <l Reason G I Why will you leave? - Because/ | feel sick
| Whose ¢&<  Owner L] I Whose car is that/ - its Fawaz’s
| Which ¢4 Choice Sl I Which lecture do you prefer? — English one.

| What ¢ i Eventorthing s ;.ul What did he say? — He would not come to the party

[How scus  Situation and case i si«ia] How is your study? — It’s good

How ofteri Aq Number of times  «i_aise] How often do Muslims pray a day? — Five times

4l 5 R
How long i Period Al Cra 35 How long does it take you to arrive? — 2 hours

11 | How far =™ distance adlea I How far is the university from your house? — 15 Kms.




Gl Jl ) Jlias s culS ¢ 5 gl e adadd s (o glladlls
) s Auliall el RS J)gad) clidary | uSall Glal )

U

Circle the most suitable answer a, b, c or d for each of the
following

was the reason of the car accident? — It
was the very high speed.
A. Why B. Where C. What D. How

2. Could you please tell me will be the final
test ? - Next Monday.
A. Where B. When C. How D. Who

3. do you eat a day? - Only twice.
A. How far B. How long C. How often D. How

4. How long did it take you to finish doing the homework? -

A. Three kilometers B. Two hours C. Four children D.
Yesterday

Is knocking at the door? It is Rami
A. How B. When C. Why D. Who

6. | really don’t know the football match begins.
A. when b. who C. what D. whose

is the hospital from the police station?
__ Three kms.
A. long B. often C. much D. far

49




did she say? — Nothing
A. Who B. Why C. What D. When

9. | need your help please. | don’t know
start this machine.
A. who B. how C. what D. whose

house is that beautiful one? — Its
mine
A. Who B. What C. Whose D. Where

colour do you prefer Aysha ? — The red
one
A. Which B. Who C. When D. how

are you Abdullan? _ 178 cm
A. long B. tall C. far D. ol
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50
AL a8 8 98 Ll
- what> 4.y

51
o s 99 Gliadla
- how! 4aY!

52
Gl e e €9 Lia g O shay () salusall
- how oftenz 4Y)

58 -57 - 56 4wV

56
yand Ll 99 5 L) lls
- whosez <Y
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- how long— 4Y!
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COUNTABLE AND UNCOUNTABLE NOUNS
R RE P )3’.3\} .JJ.JMM

u\JA e DL.L\.MJJ &}a.é}d\
Gl S Sl ) e (B0 )5 ¢ sadasall i
Ot CAY) e (g sadll S il Jae 48 )5 S Aa 5l
D) sale V) g ¢ Al B e 4

COUNTABLE NOUNS 352 sasall slawl) | Y

‘oailbad dac gl

e gl e (585 ) (Saal -
: boOk — boOkS Jis gan (o253 (Saa g 3 jia (AT San Gl gamall  Jay

Countable nouns can be singular or plural
My dog is playing.
My dogs are hungry.




| have got one egg.
| have got two eggs.

a, an » S article J) 4w (Sae 3 i QIS 13T 2 22l 2-

We can use the indefinite article a/an with countable
nouns
A dog is an animal.
I’'m waiting for a bus.

a, an, the, my, thisdic 4l Gl aladin) e Y 3 e 3 gamall S
ali]
When a countable noun is singular, we must use a word
like a/the/myl/this with it:
| want an orange. (not | want orange.)
Where is my bottle? (not Where is bottle?)

a5 ) 09 ¢ an o) daddiud (Sae pan S 131 2 50eall3-
When a countable noun is plural, we can use it alone
| like oranges.
Bottles can break.

few & a fewpaaiu XS s some & any 2 sl g 235034 -

L“;é.'d\} B g & P2 any J
Jgdmall e xa lgeddiug (Ses SOME & ANY

4Ll

We can use some and any with countable and
uncountable nouns
I've got some dollars.
Have you got any pens?
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» Some people arrived.
* | bought some milk.
» Did you meet any friends in the city?
* | didn’t have any water.

We can use a few and many with plural countable nouns
I've got a few dollars.
I've got a few friends.
| haven't got many pens.
They haven’t got many friends.

PErsonta. yia g Cila gaeall (el people 4<lS5-

"People" is countable. "People"” is the plural of "person”.
We can count people:
There is one person here.
There are three people here.

L83 532a il el Lu\_a
Uncountable Nouns
i o leran (S Y L 4 225000yl
watersWll 5 rice oY Jia

Unlike Countable nouns, which can be counted,
Uncountable nouns are substances, concepts
etc that we cannot divide into separate elements. We
cannot "count" them. For example, we
cannot count "milk". We can count "bottles of milk" or
"litres of milk", but we cannot count "milk
Here are some more uncountable nouns:
music, art, love, happiness
advice, information, news
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furniture, luggage
rice, sugar, butter, water
electricity, gas, power
money, currency

el Aals e 80 gama il elansV] ae Jalati Wil s Tan degall £l (ha
e
We usually treat uncountable nouns as singular. We use a
singular verb. For example
This news is very important.
Your luggage looks heavy.

Al 4ia o Jad s o Lol 130 W) 2 saea il ae article JI pasius ¥
Gl bl (amy
Jia
a piece of news
a bottle of water
a grain of rice

Lalina Cown 3l gdza & 583 gaza () &SI el o

Nouns that can be Countable and Uncountable
Sometimes, the same noun can be countable and
uncountable, often with a change of meaning
Drinks (coffee, water, orange juice) are usually
uncountable. But if we are thinking of a cup or a glass, we
can say (in a restaurant, for example):
Two teas and one coffee please.

J}Mﬁjﬁj%e&&\&bﬁ\%@d)hm
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Nouns that can be Countable and Uncountable
Sometimes, the same noun can be countable and uncountable, often with a change of meaning

Countable Uncountable

There are two hairs in my coffee! | don't have much hair.

There are two lights in our bedroom. Close the curtain. There's too much light!

It's difficult to work when there is too

Shhhhh! I thought | heard a noise. .
much noise.

Have you got a paper to read? (= I want to draw a picture. Have you got
newspaper) some paper?

Our house has seven rooms. Is there ro}om for me to sit here?

We had a great time at the party. Have you got time for a coffee?

Macbeth is one of Shakespeare's | have no money. | need work!
greatest works.

350l LS @ny 5 some Ll 2 50ee sl e padid (Ses
We can use some and any with uncountable nouns
I've got some money.

Have you got any rice?

asama yall aa @ little, much alasiu) (Say WS
We can use a little and much with uncountable nouns
I've got a little money.
| haven't got much rice.
I've got a little milk.
We haven't got much time

2g2xall 2a g hOW Many s 25324l e 2 how much pasies Jigudl 8

HOW MANY OR HOW MUCH
how many books are there on the desk?
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how much water is there in the glass?
how many computers are there in the laboratory?
how many mistakes are there in your exam?
how much sugar is there on the floor?
how many triangles did you bring?
how many bones do we have?
how many students are there in the classroom?
how many credit cards do you have?
how much money did you ask?
3 ladae dgaeall e g 350l e alall Al HLSA) Alia)
S

8-
items Of Ll sla Ll (K1 ¢ 25000 ye iiad 4xial [uggage of g
333 e D15l Jm luggage
chal Al daiaY) adad dxe oS
alay)
- Many/
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Comparative & Superlative

b Aaladl Al all il ye DA ) ye 320 Lgi )2 el g Aadll b (e A
s JsY) (6 sially

d.m‘}“ua:ud;ca‘)ha.\;b C)'“J\ zale Ly \;}51...;:
& s sall Lt Jsa oalall oyl jlial Al Ja salallS

Comparative
il Gpadid Cpn A3 Al sl g
Ml J g8
Mohammed is taller than Al
Our class is bigger than yours.
My father's car is more modern than your car.

comparative J) 4S5 o a3l
JelliSubject
+
Ydeldl s s, are (aebuw Jad
+
Y= 3 7)) more () erld —ilbias 4l
+

Than
+

AY Jelal)




Superlative
sl o palaiisae e o8 ol (add Juadll coglul gl

Jie

Mohammed is the tallest
My class is the biggest
My car is the most modern

more equmui.ejestd\j er d\q%@éaq)gqua?@_d\ J) )

mMost s

s Jsaall 1aa

Rules at a Glance

Adjective form

Comparative

Superlative

Only one syllable, with more than
one vowel or more than one
consonant at the end. Examples:
light, neat, fast, tall, neat, deep

Add -er:
lighter, neater, faster, taller,

neater, deeper

Add -est:
lightest, neatest, fastest, tallest.
neatest, deepest

Only one syllable, ending in E.
Examples:
wide, fine, cute

Add -r:

wider, finer, cuter

Add -st:
widest, finest, cutest

Only one syllable, with one vowel
and one consonant at the end.
Examples:

hot, big, fat, sad

Double the consonant, and add -
er:

hotter, bigger, fatter, sadder

Double the consonant, and add -
est:
hottest, biggest, fattest, saddest

Two syllables, ending in Y.
Examples:
happy, silly, lonely, jolly

two syllable word ending a vowel-
sound that is not stressed
yellow, simple

Change y to i, then add -er:
happier, sillier, lonelier, jollier

Add -er:
yellower, simpler

Change y to i, then add -est:
happiest, silliest, loneliest, jolliest

Add -est:
yellower, simpler

Two syllables or more, not ending
in Y. Examples:
modern, interesting, beautiful,

Use more before the adjective:
more modern, more interesting,

| more beautiful

Use most before the adjective:
most modern, most interesting,
most beautiful

s )y Al adall s g g gall (B i) ks
ASll Laill) adaiall 4rensi (San 58 5 Syllable 4wl o5 Cajai 220
PY iy hap cpehis led 532 happy 4l s
ehie (e Lt oS beautiful 4elS e

1- Beau 2-ti 3 — ful
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Juasillest
tallest s taller zv<i tall >is

Laid 1 Lg) Capni @ i 4wl Al g aal y adale ddal) cul€ 13 Ll
Juadill st 5 45 )laall
widest s wider zu=i wide Jis

dunad Wi s s g vOowel ,aY) Jd Cajall g aal y adaie adiall culS 3] 2 GG
a, e uo,li

leie oo Le pa¥l Gaoall g vowel J) s oa e iAW) i o all 13) Lilsd
ests) er Cauai At (Ju) 4tz je AW Cajall Cauas
hottest s hotter zu=i hot Jie

i Ay J iy a1 Capall g G sea Guadaila (e 4diall culS 131 L)
ests) er canai &
happiest s happier x+<i happy Ji
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Irregular Adverbs

Comparative Superlative
worse worst

more most

less least

more most

better best

Irregular Adjectives

Word Comparative Superlative
good better best

bad worse worst

much more most

little less least

far farther farthest

older oldest

old elder eldest

Al amy Ja (oY)
Let’s Start Exercising

1. The weather in winter is than itis in
summer
A. colder
B. cold
C. coldest
D. the coldest

2. | have money than you do
A. much
B. more
C. most
D. least

3. Abdullah is of all boys
A. the fastest
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B. the most fastest
C. fast
D. faster

1. What is the comparative of "sad"?
1. sader
2. sadder
3. sadier
4. saddier

2. What is the comparative of "destructive"?
1. destructiver
2. more destructive
3. destructivier
4. more destructiver

3. What is the superlative of "soft"?
1. softest
2. softiest
3. softtest
4. most soft

4. What is the comparative of "hot"?
1. hoter
2. hotter
3. hotest
4. Hottest
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